B+ B B % X 218 FF 5(DC 3% 3,44 ) M18
M18x50 M18x50 M18x50
12mm 20mm 5.0mm 8.0mm 8.0mm 15mm
#EA E|$:] #HA E| 3] BA E[ 34

ILM18-M12NA-Y3L2/C50

ILM18-F20NA-Y3L2/C50

IM18-MO5NA-Y3U4/C50

IM18-FO08NA-Y3U4/C50

IZM18-M08NA-Y3U4/C50

1ZM18-F15NA-Y3U4/C50

ILM18-M12NB-Y3L2/C50

ILM18-F20NB-Y3L2/C50

IM18-MOSNB-Y3U4/C50

IM18-FO8NB-Y3U4/C50

1ZM18-M08NB-Y3U4/C50

1ZM18-F15NB-Y3U4/C50

ILM18-M12NC-Y3L2/C50

ILM18-F20NC-Y3L2/C50

IM18-MO5NC-Y3U4/C50

IM18-FO8NC-Y3U4/C50

1ZM18-M08NC-Y3U4/C50

1ZM18-F15NC-Y3U4/C50

ILM18-M12PA-Y3L2/C50

ILM18-F20PA-Y3L2/C50

IM18-M05PA-Y3U4/C50

IM18-F08PA-Y3U4/C50

1ZM18-M08PA-Y3U4/C50

1ZM18-F15PA-Y3U4/C50

ILM18-M12PB-Y3L2/C50

ILM18-F20PB-Y3L2/C50

IM18-M05PB-Y3U4/C50

IM18-F08PB-Y3U4/C50

1ZM18-M08PB-Y3U4/C50

1ZM18-F15PB-Y3U4/C50

ILM18-M12PC-Y3L2/C50

ILM18-F20PC-Y3L2/C50

IM18-M05PC-Y3U4/C50

IM18-F08PC-Y3U4/C50

1ZM18-M08PC-Y3U4/C50

1ZM18-F15PC-Y3U4/C50

ILM18-M12SZ-Y3L2/C50

ILM18-F20SZ-Y3L2/C50

IM18-M05SZ-Y3U4/C50

IM18-F08SZ-Y3U4/C50

1ZM18-M08SZ-Y3U4/C50

1ZM18-F15SZ-Y3U4/C50

ILM18-M12ZZ-Y3L2/C50

ILM18-F20ZZ-Y3L2/C50

IM18-M05ZZ-Y3U4/C50

IM18-F08ZZ-Y3U4/C50

1ZM18-M08ZZ-Y3U4/C50

1ZM18-F15ZZ-Y3U4/C50

M18x1 M18x1 M18x1 M18x1 >M18x1 M18x1
s E - 3
| ! p '
< 3 <] < < < <
‘ ° °
< ; o < 0 < 0 < 0 < 0 < 0
N | N N ™ N ™ N o) N ™
= : = = © = © = © = ©
» ! » »n %) »n »
| o] < . | © |
1 0 O O[LED(4x) 0! LED(4x) w0l O O[LED(4x) w0l O O[LED(4x),
INLED LED o f:ﬁ” Q - o e o B w¢
5.0 5.0 . = < S S ———
© (W M12x1 M12x1 M12x1 M12x1
12mm=*10% 20mm=*10% 5.0mm=*10% 8.0mm=*10% 8.0mm=*10% 155mm=*10%
1~10% 1~10% 1~10% 1~10% 1~10% 1~10%
$£36x36x1Tmm #£60x60x1Tmm $£18x18x1mm $%524x24x1mm $£24x24x1mm $£45x45x1mm
400Hz 150Hz 1500Hz 1000Hz 800Hz 400Hz
<Sn*3% <Sn*3% <Sn*3%
<0.01mA <0.01mA <0.01mA
<10mA <10mA <10mA
<200mA <200mA <200mA
<2V <2V <2V
W RIEFRP LR ECORIFHRIP, EERRP | RMERIZREBEECRIIERP, AEERRIP | R RIFRIP, L BOPHNE R IP; 52 558 B8 R 3P
IR RAT(EB) IERRAT(EE) MERRAT(EE)
-25~+70°C -25~+70°C -25~+70°C
<Sn*10% <Sn*10% <Sn*10%
-25~+80°C -25~+80°C -25~+80°C

50MQ 1L E(DC 500VIkRR3R), 78 . EREE H F5h 52 < (8]

50MQ L E(DC 500VIKBR %), 72 8 EREE M AN = 2 18]

50MQ L _E(DC 500VIKRR3R), 7t EREE H AP < 8]

% & ¥R EEN60947-5-2

T & ¥R HEEN60947-5-2

& ¥R EEN60947-5-2

IP67 IP67 IP67
R 48 £2M; Sh 12 ¢5.0mm A5TM123% 2% 45tM 1275 % 28

ST i ek 4 4 SR 4G T A - 2B

S 2 o Ak B S S SR A6 T A AH R Y

S5 A R B 4R O SR AR N T A L2 R

E:1,2,3,4,5,6,9, 22K %ES, ERN05RN. FEHEHEMEDC 5V,DC 10-60V)iFEFBHEAF.

http//:www.shmuxi.com

woobp B§WEST

B~

i
e
)57

X

o
ota

i)

\J
g

B

2

Bt w

Bair ok

B8



	Ò³Ãæ  1

